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   Cq®]ôjRôs êuß ©¬ÜLû[d ùLôiPÕ 

 

INSTRUCTION : Check the question paper for fairness of printing. If there is any lack of 

fairness,  inform the Hall Supervisor immediately. 

   This question paper contains THREE SECTIONS. 

©¬Ü − I  / SECTION −−−− I 

(U§lùTiLs : 15) /  (MARKS : 15) 

 Ï±l× (i) Cl©¬®p Es[ 15 ®]ôdLÞdÏm ®ûPV°dLÜm, 

 

  (ii) AûPl×d Ï±«às ùLôÓdLlThÓs[ SôuÏ Uôtß ®ûPL°p ªLÜm 

N¬Vô] ®ûPûVj úRokùRÓjÕ GÝRÜm, 

 

 Note : (i) Answer all the 15 questions. 

  (ii) Choose the correct answer from the four alternatives given in the brackets.  

     15 ×××× 1 = 15 

(1)  CVtûL úRoÜ úLôhTôhûP ùY°«hPYo___________________ . 

  (NôoXv Pôo®u,  ¶ëúLô-¼-Yô¬v,  ¡¬Lo ú_ôLu ùUiPp,  Ëu TôlûPv 

XôUôod ) 

  Theory of natural selection was proposed by 

  (Charles Darwin,  Hugo de Vries,  Gregor Johann Mendel,  Jean Baptise Lamarck) 

 (2)  ©\kR ÏZkûRdÏ ØR−p ùLôÓdLlTÓm úSônj RÓlé£  

  (Yôn Y¯ úTô−úVô,  D.P.T.,  D.P.T. Utßm úTô−úVô,  BCG) 

  The first vaccine injected into a just born baby is __________ . 

  (Oral polio,  D.P.T.,  D.P.T. and oral polio,  BCG) 
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(3)  édÏm RôYWeL°u Tô−]l ùTÚdL Øû\«p SûPùTßm ØRp ¨LrÜ 

  (LÚÜßRp,  Øû[jRp,  ÁiÓm EÚYôRp,  ULWkRf úNodûL) 

  In sexual reproduction of flowering plants the first event involved in this is 

  (fertilization,  germination,  regeneration,  polination) 

(4)  RôYWeL°p ûNXj§u T¦ 

  (¿ûWd LPjÕRp,  EQûYd LPjÕRp,  Aªú]ô AªXjûR LPjÕRp,  Bd£_û] 

LPjÕRp) 

  The xylem in the plants are responsible for  

  (transport of water,  transport of food,  transport of amino acids,  transport of oxygen) 

(5)  __________TÑûUVL YôÙ, ùYlT¨ûX Uôt\m Utßm ×® ùYlTUôRûX HtTÓjÕ¡\Õ, 

  (ûahW_u,  Bd£_u,  ûShW_u,  LôoTuûP VôdûNÓ) 

  ____________ green house gas which causes climate change and global warming. 

  (hydrogen,  oxygen,  nitrogen,  carbon di oxide) 

 (6)  JÚ LûWN−u ÕLsLs ªÖiúQôd¡ Y¯úV UhÓm ùR¬YR]ôp AdLûWNp 

___________ G]lTÓm, 

  (EiûUd LûWNp,   árUdLûWNp,   ùRôeLp,   ¿o) 

  The particles in various forms are visible only under ultramicroscope. A solution containing such 

particles is called ________ . 

  (True solution,  collaidal solution,  suspension,  water) 

(7)  pH = − log10(H
+).JÚ LûWN−u ûahW_u AV¦«u ùN±Ü 0.001m G²p ARu U§l× 

__________  

  (1,  3,  11,  14)  

  pH = − log10(H
+). The pH of a solution containing hydrogen ion,  concentration of 0.001m 

solution is __________  

  (1,  3,  11,  14)  

 (8)  ReLm Gu\ R²UUô]Õ úNoUUôL ¡ûPlTÕ CpûX,  CÕ Lôtß ApXÕ ¿ÚPu 

®û]×¬YÕ CpûX,  CÕ ____________ ¨ûX«p Es[Õ, 

  (R²jR ¨ûX,  úNokR ¨ûX,  LXkR ¨ûX,  YôÙ ¨ûX) 

  Gold does not occur in the combined form. It does not react with air (or) water. It is in ________. 

  (native state,  combined state,  mixed state,  gaseous state) 

(9)  CWiPôm ùRôÏ§ R²UeLs ____________ EúXôLeLs G]lTÓm. 

  (LôW,  LôWUi,  CûP¨ûX,  Es CûP) 

  Second group elements are called __________ . 

  (alkali,  alkaline earth metals,  transition elements,  minor transition elements) 
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 (10)  ApûLu ÏÓmTj§p Es[ ØRp úNoUj§u IUPAC ùTVo __________ . 

   (Dj¾u,  DjûRu,  DjúRu,  A£h¥−u) 

  IUPAC name of first member of alkyne is ___________ . 

  (ethene,  ethyne,  ethane,  acetylene) 

 (11)  ×®lTWl©p 50 ¡.¡. ¨û\Ùs[ U²R²u GûP ____________ . 

  (50N,  35N,  380N,  490N)) 

  The weight of 50 kg person at the surface of earth is __________ . 

  (50N,  35N,  380N,  490N)) 

 (12)  20Km ªuRûPÙs[ Lm©«p 0.2A ªuú]ôhPm EÚYôdLj úRûYlTÓm ªu]ÝjR 

úYßTôÓ__________ . 

  (100V,  4V,  0.01V,   40V) 

  The potential difference required to pass a current 0.2A in a wire of resistance 20 ohm is 

_________ . 

  (100V,  4V,  0.01V,   40V) 

(13)   ªu§\²u SI AXÏ_________ . 

  (_øp,  úYôph,  Yôh,  áÛm) 

  The SI units of electric power is _________ . 

  (Joule, volt, watt, coulomb) 

 (14)   EúXôLd LPj§«p TôÙm ªuú]ôhPm ARû]f Ñt± _________I EÚYôdÏm. 

  (ùYlTm, J°, LôkRl×Xm, Gk§W®ûN) 

  An electric current through a metalic conductor produces __________ around it. 

  (heat,  light,  magnetic field,  mechanical force) 

(15)  al×s ùRôûXúSôd¡«p Es[ B¥_____________ . 

  (NUR[ B¥, ¿sYû[V B¥, Ï® B¥, Ï¯ B¥) 

  The Hubble space telescope design with two __________ is known for good imaging performance 

over a wide field of view. 

  (plane mirrors,  hyperbolic mirrors,  concave mirrors,  convex mirrors) 



  

[§Úl×L / Turn over 4 

©¬Ü − II  / SECTION −−−− II 

(U§lùTiLs : 40) /  (MARKS : 40) 

 Ï±l× : HúRàm CÚTÕ ®]ôdLÞdÏ ®ûPV°dLÜm 

 Note : Answer any twenty questions.   20 × 2 = 40 

(16)  úSônLû[Ùm ARu LôW¦Lû[Ùm ùTôÚjÕL : 

  (A) ¨dúPôúXô©Vô − A§L CWjR CZl× 

  (B) ùToÉ£Vv A²ªVô − DßL°p CWjRm L£Rp 

  (C) vLo® − UôûXdLi 

  (D) CWjRm Eû\VôûU − CWjR £YlTÔ £ûRÜ 

  Match the following : Diseases with simptoms 

  (a) Nyctalopia − Profuse loss of blood 

  (b) Pernicious anemia − Bleeding gums 

  (c) Scurvy − Night blindness 

  (d) Haemorrhage − Destruction of RBC 

(17)  JúW Uô§¬Vô] CWhûPVoLs, ÏúWôúUôúNôm AûUl©Ûm Jj§ûNkRYoLs. ¸úZ 
Ï±l©hPûYLû[ RÏkR YôojûR ùLôiÓ ØÝûUlTÓjÕ. 

  (i) JúW Uô§¬Vô] CWhûPVoLs _____________ . 

   (CVtûLVô] CWhûPVoLs,  FdÏ®dLlThP CWhûPVoLs) 

  (ii) JúW Uô§¬Vô] CWhûPVoLs _____________ . 

   (úYßTôÓLÞPu LôQlTÓYo,  JúW Uô§¬Vô] AûUlûT EûPVYoLs) 

  Identical twins are syngenic with similar chromosomal contents. Natural clones are those who 

possess identical chromosomes. Fill up with suitable word given in brackets. 

  (i) Identical twins are _____________ (natural clone,  induced clones) 

  (ii) Identical twins are ____________(dissimilar to each other,  similar to each other) 

   

(18) ùLôÓdLlThÓs[ U²R êû[«p ©uYÚm 

ùNVpLû[ LhÓlTÓjÕm TÏ§Lû[ "A' Utßm "B' 

Guß Ï±dL. 

 (A) ÖLoRp EQÚm TÏ§ 

 (B) TôoûY EQÚm TÏ§  

  Human brain and the functions of different parts are given above. Mark the diagram  (a) and (b) 

  (a) seat ofsmell (b) seat of vision 

(19)  ¸rdLiP átßLs RY\ôL CÚl©u N¬Vô] át±û] GÝÕL. 
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  (A) BpTô ùNpLs CuÑ−û] EtTj§ ùNn¡u\] Utßm ÀhPô ùNpLs 

ÏÞdúLôLôû] EtTj§ ùNn¡u\] 

  (B) Lôo¥úNôu úSôn G§ol× RuûUûV Ïû\d¡\Õ 

  (C) ûRUv ÑWl© JÚ ¨Q¿o ùRôÏ§ 

  (D) AiPLm ØhûPLû[Ùm BihúWô_û]Ùm EtTj§ ùNn¡\Õ 

  Correct the statement if they are wrong. 

  (a) Alpha cells produce insulin and beta cells produce glucogon 

  (b) Cortisone supress the immune reponse 

  (c) Thymus gland is a lymphoid mass 

  (d) Ovary produces eggs and androgen 

(20)  ùRôPo©u A¥lTûP«p úLô¥hP CPjûR ¨Wl×L: 

  ûRWôd³u _____________ BÞûU aôoúUôu 

  Ah¬]−u _____________. 

  Based on relationship fill in the blanks : 

  Thyroxine____________ personality harmone. 

  Adrenalin ____________ . 

(21) ùLôÓdLlThÓs[ TPjûR YûWkÕ TôLeLû[ Ï±dLÜm. 

 Draw the diagram and label the parts. 

   

 

(22)  £ß¿WL ÖiÏZp TÏ§«p Es[ êuß Ød¡V TôLeLû[d áß. 

  Write the three important parts of uriniferons tubules. 

(23) ùLôÓdLlTh¥ÚdÏm TPjûR LY²dL. 

 (1) TPm "A' Utßm "B'-Cp LôQlTÓm 

CVdLeLû[d Ï±l©ÓL. 

 (2) GqYôß CVdLeLs ùRôhPôp £Ôe¡ 

CûXL°u CVdLeL°−ÚkÕ 

úYßTÓ¡u\]?   

 

  Observe the diagram  

  (a) Mention the type of movements shown in Fig A and B. 

  (b) How does the movement differ from the movement of mimosa. 

(24)  JtßûU«u A¥lTûP«p LiP±L: 

A / A B / B
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  §ªeLXm : TÄu RLÓLs.  ùY[Yôp : ________________ . 

  Based on relationship fill up : 

  Whale  :  Baleen plates.   Bat  :  ________________ . 

(25)  éoj§ ùNnL: 

  L¯Ü ¿dL Eßl× ùY°úVtßm L¯Ü L¯Ül ùTôÚhLs 

  (1) £ß¿WLm − _________________ − ________________ 

  (2) ÖûWÂWp − _________________ − ________________ 

  Fill in the blanks : 

  Excretory organ − Excretory products − Sent out as 

  (1) Kidneys − _______________ − _________________ 

  (2) Lungs − _______________ − _________________ 

(26)     (A) 1 Utßm 3p LôQlTÓm ¨Lrf£Lû[ 

GÝÕL. 

 (B) ¨LrÜ 1I YûWVß. 

 (C) HúRàm JÚ T¥U G¬ùTôÚû[ 

Ï±l©ÓL. 

     

 (a) Name the process noted as No.1 and 3. 

 (b) Define the process. 

 (c) Name anyone fossil fuel 

 

(27)  “§ÚmTl ùT\ôR Y[m GuTÕ JÚ CVtûL Y[m. CRû] U²R ÖLo®u 
úYLjûR®P úYLUôL CVtûL ¨Lr®]ôp Uôt\Xôm”. 

  úUtLiP átû\ T¥jÕ, RY\ô]Rô ApXÕ N¬Vô]Rô GuTûR Eß§ùNn. RY\ôL 
CÚkRôp N¬Vô] át±û]d áß. 

  A non renewable resource is a natural resource. If it is replaced by natural process at a rate 

comparable or faster than its rate of consumption by humans. 

  Read this statement and confirm whether it is correct or incorrect. If it is incorrect give correct 

statement. 

(28)  Bt\p úUXôiûUûV ®Y¬. 

  Describe : Energy conservation. 

(29)  úTôdÏYWjÕ YôL]eL°p TVuTÓjÕm G¬ùTôÚsLs VôûY? 

  What are the bio fuels for transportation? 

Atmosphere

CO2

Green plants

Fossil 

plants

Decomposition

1

3

2

Animals

Y°UiPXm

CO2

RôYWeLs

×ûR T¥Y
RôYWeLs

£ûRRp

1

3

2

®XeÏLs
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(30)  25°C ùYlT¨ûX«p ùR®h¥V LûWNÛdÏm, ùR®hPôR LûWNÛdÏm Es[ 
úYßTôÓLû[ ¸r ùLôÓdLlThÓs[ Ï±l×Ls êXm GÝÕL. 

   (A) 16g NaCl 100¡ ¿¬p (B) 36g NaCl  100¡ ¿¬p 

  (Ï±l×: NaCl -u LûW§\u 36¡) 

  Distinguish between the saturated and unsaturated solution using the data given below at a 

temperature of 25°C. (..... NaCl is 36g) 

  (A) 16g NaCl in 100g water (B) 36g NaCl in 100g water 

(31)  20¡ NûUVp ElûT 50¡ ¿¬p LûWj§ÚkRôp AdLûWNp ùN±®u NRÅR ¨û\ûVd 
LQd¡ÓL. 

  Find the concentration of solution in terms of weight percent if 20 gram of common salt is 

dissolved in 50 gram of water. 

(32)  ¨Wl×L: 

  AÔdLhÓ GiAÔdLhÓ GiAÔdLhÓ GiAÔdLhÓ Gi        G.Lô.G.Lô.G.Lô.G.Lô. 

  (1) KWÔ êXdáß − _________________ 

  (2) DWÔ êXdáß − _________________ 

  (3) êYÔ êXdáß − _________________ 

  (4) TuU AÔ êXdáß − _________________ 

  Fill in : 

  Atomicity  E.g. 

  (1) Monoatomic − _________________ 

  (2) Diatomic − _________________ 

  (3) Triatomic − _________________ 

  (4) Polyatomic − _________________ 

(33)  CÚm× B¦ûV RôªW NpúTh LûXN−às ûYdÏmúTôÕ, RôªW NpúTh Hu ¨\m 
Uôß¡\Õ? E.m. T§ÛdLô] ®[dLjûR RWÜm. 

  Why does the colour of copper sulphate change when an iron nail is kept in it? Justify your 

answer. 

(34)  JÚ LûWN−u ûahWôdûNÓ AV¦«u ùN±Ü 1.0 × 10−9m G²p, LûWN−u pH 
U§lûT LiÓ©¥dLÜm. 

  The hydroxide ion concentration of a solution is 1.0 × 10
−9
m. What is the pH of the solution? 

(35)  (I) GkR EúXôLm TôRWNjÕPu úNokRôÛm ARtÏ CWNdLXûY Guß ùTVo 

    TtÏ¯Lû[ AûPlTRtÏ TVuTÓm CWNdLXûY____________ . 

    (A) Ag−Sn CWNdLXûY (B) Cu-Sn CWNdLXûY 

  (II) ©jRû[«p Es[ EúXôLeLs __________ . 

    (Zn, Cu / Cu, Fe / Fe,  Al /  Al, Cu) 

  (I) Any metal mixed with mercury is called amalgam. The amalgam used for dental filling is 

__________ . 

   (a) Ag−Sn amalgam (b) Cu-Sn amalgam 

  (II) Metals present in brass are ____________ . 

    (Zn, Cu / Cu, Fe / Fe,  Al /  Al, Cu) 
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 (36)  APo HCl, APo H2SO4 EPu ®û]×¬Ùm CÚm× APo HNO3 AªXjÕPu 
®û]×¬Y§pûX. Hu? 

  Iron reacts with cone HCl and Conc.H2SO4 acids. But, it does not react with Conc.HNO3. Why? 

(37)  ûYWm LôoTàûPV ×\úYtßûU Y¥YeL°p Ju\ôÏm. ARu L¥]jRuûUdLô] 
LôWQjûRd áßL. 

  Diamond is the hardest allotrope of carbon. Give reason for its hardness. 

(38)  ¨û\, GûP CûY Ju±−ÚkÕ Utù\ôuß GqYôß úYßTÓ¡u\Õ? 

  Differentiate mass and weight. 

(39)  (A) Eß§lTÓjÕ : §WY ûShW_u TX Ï°¬ TVuTôÓL°p Ød¡VUô]RôÏm. 

  (R) LôWQm : CÕ SôÓL°ûPúV G°§p ùT\ CVÛY§pûX. 

   C§p N¬Vô] Y¬ûN GÕ? 

   (i) (A) Utßm (R) CWiÓm N¬. 

   (ii)  (A) RYß (R) N¬ 

   (iii)  (A) Utßm (R) CWiÓm RYß 

   (iv)  (A) N¬ (R) RYß 

  (A) Assertion : Liquid nitrogen is the most commonly used element in cryogenics. 

  (R) Reason : It is not legally purchaseable around the world. 

   Write  

   (i) Both (A) and (R) are correct 

   (ii) (A) is wrong but (R) is correct 

   (iii) Both (A) and (R) are wrong 

   (iv) (A) is correct but (R) is wrong 

 

(40) ClTPj§û] YûWkÕ ARu TÏ§Lû[ Ï±l©ÓL. 

  Draw this diagram and label the parts. 

 

 

(41)  UW×NôWô Bt\p êXeL°u ùTVoLs ¸úZ RWlThÓs[]. B]ôp AYtßs £X RYß. 
RY\ô]Ytû\ Th¥V−ÓL. 

  (Lôtß Bt\p, ã¬V Bt\p, ¿oªu Bt\p, AÔdLÚ Bt\p, AûX Bt\p, 
úTWûX Bt\p, ×® - A]p Bt\p) 

  In the list of non conventional sources of energy given below, some of them are wrong. List out 

the wrong ones.  

  (wind energy,  solar energy,  hydro electric power,  nuclear energy,  tidal energy,  wave energy,  

geo thermal energy) 

(42)  1.5V ªu²VdÏ ®ûN ùLôiP CÚ ªuLXuLs 5Km, 10Km, 15Km ªuRûPLs 
Utßm Nô® CYtû\j ùRôPWôLd ùLôiP JÚ ªu Ñtßl TPj§û] YûWL. 

  Draw the schematic diagram of an electric circuit consisting of a battery of two cells of 1.5V each, 

three resistance of 5ohm, 10ohm and 15ohm respectively and a plug key, all connected in series. 

+ −

úYôpPô ªuLXm /
Volta Cell

∧∧∧∧∨∨∨∨
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(43)   Ï®ùXu£p ùTôÚ°u ¨ûXûVÙm - ùTôÚû[f NôokÕ ©mTj§u A[ûYÙm 
ùTôÚjÕL, 

 ùTôÚ°u ¨ûXùTôÚ°u ¨ûXùTôÚ°u ¨ûXùTôÚ°u ¨ûX ©mTj§u A[Ü©mTj§u A[Ü©mTj§u A[Ü©mTj§u A[Ü 

  (A) 2FdÏ AlTôp − Ø¥®Xô A[Ü ùT¬VÕ 

  (B) 2F-p − £±VÕ 

  (C)  F-dÏm 2F-dÏm CûP«p − ùTôÚ°u A[Ü 
  (D) Ï®Vm F-p − ùT¬VÕ 
  Match the following in the case of a convex lens 

 Position of the object Relative size of the image 

  (a) Beyond 2F − infinitive large 

  (b) At 2F − diminished 

  (c) Between F and 2F − same size 

  (d) At focus F − enlarged 

(44)  JÚ Ï¯ùXu£u Ï®VjçWm 15ùN.Á. ùXu£−ÚkÕ 10ùN.Á. ùRôûX®p ©mTm 

EiPôL, ùTôÚs ùXu£−ÚkÕ GqY[Ü ùRôûX®p ûYdLlTP úYiÓm? 

  A concave lens has focal length of 15cm. At what distance should the object from the lens be 

placed, so that it forms an image 10cm from the lens? 

 (45)  úLô¥hP CPeLû[ ¨Wl×L: 

  (A) úUôhPôo: ¨ûXdLôkRm, Yô¦T Ã§«Xô] úUôhPôo___________ . 

  (B) JÚ ùXu£u Ï®Vj ùRôûXÜ: ÁhPo. ARu §\u ___________ . 

  Fill in the blanks: 

  (a) For a motor: a permanent magnet, then commercial motor ___________. 

  (b) Focal length of a lens: meter, then for power of a lens ____________ . 

©¬Ü − III  / SECTION −−−− III 

(U§lùTiLs : 20) /  (MARKS : 20) 
 Ï±l× (i) JqùYôÚ TÏ§«−ÚkÕm JÚ ®]ô ÅRm SôuÏ ®]ôdLÞdÏ 

®ûPV°dLÜm, 

  (ii) JqùYôÚ ®]ôÜdÏm IkÕ U§lùTi, 

  (iii) úRûYVô] CPeL°p TPm YûWL, 

 Note : (i) Answer any four questions by choosing one question from each part. 

  (ii) Each question carries five marks. 

  (iii) Draw diagram wherever necessary.  4 × 5 = 20 

TÏ§ − A  / PART −−−− A 

(46)  E«o ùRô¯pÖhT®V−p ÖiÔ«o ùTÚdLm, TVuTôÓLs ¸úZ ùLôÓdLlThÓs[]. 
áokÕ LY²jÕ ®ûPV°dLÜm. JqùYôu±tLô] TVuLû[d áß. 

 E«o G§ol× ùTôÚhLs

ûYhPªu

ùSô§Ls
L¬U AªXeLs

RÓlé£Ls

E«o ùRô¯pÖhT®Vp
ÖiÔ«o ùTÚdLm
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  List the recent advances made in bio-technical field through a chart. 

 

 

 

 

 

 

(47)  EeLs TÏ§«p UúX¬Vô TW®Ùs[Õ. 

  (A) CRû]d LhÓlTÓjR Eu TÏ§«u E¬V AÛYXoLÞdÏ RÏkR BúXôNû] 
YZeÏL. 

  (B) UúX¬Vô®u N¬Vô] úSôn A±Ï±Lû[ úRokùRÓjÕ GÝÕ. 

   (Ï°o, SÓdLm Utßm LÓm LônfNp, úT§) 

  There is a widespread outbreak of malaria in your area. 

  (a) Suggest some controlling measures to the local authorities concerned. 

  (b) Pick out the right symptom for malaria. 

   (chill and shiver and a rise in temperature, diarrhoea) 

TÏ§ − B  / PART −−−− B 

 (48)  édÏm RôYWeL°p SûPùTßm Tô−]l ùTÚdL Øû\«p DÓTÓm CWiÓ ¨LrÜLû[ 
GÝÕL. 

  (A) ØRp ¨LrÜ Utßm AYt±u YûLLû[ ®Y¬. 

  (B) AR²u SuûU ¾ûULû[ GÝÕL, 

  Write the two events involved in the sexual reproduction flowering plants. 

  (a) Discuss the first event and write the types. 

  (b) Give the advantages and disadvantages of that event. 

(49)  EuàûPV TÏ§«p ¿o RhÓlTôh¥]ôp UdLs AY§VûP¡\ôoLs. G]úY, ¿o 
RhÓlTôh¥û]j R®odL Guù]u] Øû\Lû[d ûLVôsÅo? 

  In your area there is scarcity of water. Due to this the people are affected. So what are the 

measures to be taken by you to meet out the scarcity of water? 

TÏ§ − C  / PART −−−− C 

(50)  (A) AÔdLÞdÏm êXdáßLhÏm Es[ úYßTôÓLû[ AhPYûQlTÓjÕL. 

  (B) 12.046 × 1022 êXdáßLû[d ùLôiP RôªWj§p Es[ úUôpLû[d LQd¡ÓL, 

  (a) List out the differences between atoms and molecules. 

  (b) Find the number of moles in copper containing 12.046 × 1022 molecules. 
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(51)  (A) GvPWôdÏRp Gu\ôp Gu]? ARu úY§ ®û]ûV GÝÕL. 

  (B) GjR]ô−u CWiÓ TVuLû[ GÝÕL. 

  (a) Define esterification. Give its chemical reaction. 

  (b) Write any two uses of ethanol. 

TÏ§ − D  / PART −−−− D 

(52)  (A) ¨ëhP²u ØRp CVdL ®§ ®ûN«u TiûT ®[dÏ¡\Õ. Cdátû\ 

¨VôVlTÓjÕL. 

  (B) 10¡.¡., 20¡.¡. ¨û\Ùs[ ùTôÚhLs Øû\úV 10ms−1, 5ms−1úYLj§p ùNpYûRl 

TPm LôhÓ¡\Õ. AûY úUô§d ùLôs¡u\]. úUôR−uúTôÕ AûY ùRôhÓd 

ùLôsÞm úSWm 2 ®]ô¥Ls. úUôRÛdÏl ©u AûY Øû\úV  12ms−1, 4ms−1 

úYLj§p ùNp¡u\] G²p, F1, F2CYtû\d LôiL. 

 

  (a) Newton’s first law of motion gives a qualitative definition of force. Justify. 

  (b)  

 

   The figure represents two bodies of masses 10kg and 20kg and moving with an initial 

velocity of 10ms−1 and 5ms−1 respectively. They are colliding with each other. After 

collision they are moving with velocities 12ms
−1
 and 4ms

−1
 respectively. If the time of 

collision be 2 sec, calculate F1 and F2. 

 (53) (A) YXl×\j§p Es[ TPjûR 

ÁiÓm YûWL. 

 (B) ClTPm Ï±l©ÓYÕ__________ . 

 (C) TPj§p Ød¡VUô] TôLeLû[d 

Ï±dLÜm. 

 (D) CfNôR]m GkR RjÕYj§u 

A¥lTûP«p ùNVpTÓ¡\Õ? 

 

 

 

  (a) Re-draw the above diagram. 

  (b) This diagram represents _________ . 

  (c) Label the parts of the diagram. 

  (d) Write the principle of the device denoted in the diagram. 
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